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QUESTION 1

Which of the following is one of the three market-based mechanisms created by the Kyoto Protocol?
A. Emissions trading.

B. Carbon credit initiative.

C. Footprint reduction fund.

D. Carbon neutral implementation.

Correct Answer: A

QUESTION 2

Which of the following are steps you can take to help justify a green IT programme?
a.Highlight current costs.

b.Investigate available skilled labour.

c.ldentify legislative dangers.

d.Demonstrate cultural resistance.

A.b,candd.

B. b and d.

C.aandc.

D. a, bandd.

Correct Answer: C

QUESTION 3

Which of the following will reduce paper consumption?
A. Setting printers to duplex printing.

B. Setting printers to colour printing.

C. Setting printers to high quality printing.

D. Setting printers to draft printing.

Correct Answer: A
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QUESTION 4

Which of the following activities would make data centres more energy efficient?

a) Consolidate systems onto a smaller number of servers.
b) Position servers as close together as possible.

¢) Ensure hot and cold airflows do not mix.

d) Retire all unused and unnecessary data storage capacity.
A. b and d only.

B. a, c and d only.

C. b, c and d only.

D.a, b, candd.

Correct Answer: B

QUESTION 5

What is the purpose of the EU Code of Conduct for data centres?
A. To reduce energy consumption.

B. To reduce C02 emissions.

C. To reduce data capacity.

D. To reduce server disposal.

Correct Answer: A
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